et S (M)

(FF2E1A28B1ER)

KAMEDHRME T, FFTHAVLERAT -2 OEERBIETT,
SH. HBIEHNELIGEELNHYEIDT, HoMLOHITTEILEZSLY,

1. HEEHE
H31.1~R1.11| H30.1~11 ||H31.4~R1.11| H30.4~11 R1ERE R1GERE
108 18 RIERE) | GTERY || RiEESD |GIEERY)|| S1mEL | SomtH
- ERAHE 24,119 24403 || 283,867 | 290023 197,175 | 202,747 71,893 76,760
(A5.8) (A6.5) (A2.1) (A1.4) (A27)] (A 04) (A20)] (A 1.1)
- 23,670 24015 | 279,122 | 285126 | 193,674 | 199,141 70,604 75,385
i (A58) (A6.4) (A2.1) (A1.2) (A27)] (A 02 (A20)] (A 12)
. 449 388 4,745 4897 3,501 3,606 1,289 1,375
(A6.1)] (A15.8) (A3.1)] (A128) (A29) (A 11.2) (A2.0) 1.7)
= = 2,568 2,527 28,561 28,523 21,120 20,684 8,236 7,789
(A11.0) (4.9) (0.1) (A1.2) QD[ (A 24 (3.3) (5.0)
R4 2,425 2,242 26,768 26,321 19,645 19,022 7,683 7,295
(A8.0) 2.7 (1.7) (A2.3) (33) (A 39 (4.4) (6.5)
] pid 13,834 12,659| 170,149 166,087| 118,020] 119,927 49,963 41,564
(A29) (A11.6) (2.4) (A5.8) (A16)] (A 6.0 @@l (a21)
R4 11,929 11,206] 152,191 149599| 105,397 107,284 45319 36,943
(A57)|  (A8.7) (1.7) (A6.6) (A18)] (A 6.5) (1.6) (A 21)
& i 40,521 39,589| 482,577 484.633|[ 336,315 343,358/ 130,092 126,113
(A5.2) (A7.6) (A0.4) (A3.0) (A21)] (A 26) (A0 (A 1.1)
O X o 22,808 16,863| 416,651 406,957| 253,289 267,426| 140,154 73,464
(A12.1)] (A27.6) Q24| (Aa17.7) (A5.3)] (A 240) (5.9)| (A 145)
2. ERHREA#
H31.1~R1.11] H30.1~11 ||H31.4~R1.11| H30.4~11 R1EE R1FEE
108 18 RIERE | GTERY || RiEESD |GIEERY)|| S1mEL | SomiH
N 4,285 3,971 46,930 44329 32,522 30,275 11,596 12,670
g REET (6.8) (1.6) (5.9) (2.5) (1.4) 3.1) (6.1) (8.9)
ol [ 5,328 5,838 60,959 58,570 45329 43289 17,410 16,753
(2.7) (3.5) (4.1) (2.9) (4.7) (4.5) (4.0) (6.6)
— 3 0 27 27 15 25 2 10
’|‘ ARER (50.0) (0.0) 0.0 (A100) (A400) (8.7 (A84.6) (0.0)
5 ierEes 143 285 1,793 2,202 1,475 1662 553 494
(A42.8) (25.6)][ (A18.6) (134)[  (A11.3) (18.4) (A98)] (A13.6)
¥ | xEERE 268 283 2,841 2,845 2,097 2,137 719 827
N (A14.1)] (A104) (A0.1) (25.7) (A1.9) (29.0) (A5.3) (10.3)
7 o 1,905 1,453 17,958 16,488 12,623 12,643 4,644 4,621
o [TEEEEIT (19.0) (A28.6) (8.9) (2.6) (A0.2) (A14) (7.9) (A1.7)
3. B HEERE KRRV ERFERMEHBEES
H31.1~R1.11] H30.1~11 ||H31.4~R1.11| H30.4~11 R1EE R1GEE
108 1A RIEEE) | GTERY) || RiEER |GIEERLD| S1mp | Somis
HrHEEERS 18,021 18,868 | 214,655 | 214616( 153,653 | 150,093 58,001 58,763
(A9.5) (A4.3) (0.0) (A25) (2.4) (A 0.4) (7.8) (3.7)
e 19,905 19,720 - - - - - -
Al R (9.4) (3.1) - - - - - -
ERFE 26 17 263 260 182 191 67 72
BT s mE (23.8)| (A22.7) (1.2) (A3.7) (A47)] (A 73) (21.8)[ (A 22.6)




4. BFIFEREH

H31.1~R1.11] H30.1~11 ||H31.4~R1.11| H30.4~11 R1EE R1EE

108 18 RIERED | GTERE) | RIFEERS |FIEERE)|| F1mFH | Fom3H

== TR 1,464 1,525 15,112 15,013 11,172 10,988 4,179 4,004

(5.0) (5.0) 0.7)] (A11.1) (1.7D] (A 12.1) (A5.0) (7.1)

m % 17 13 103 135 79 100 18 31

(112.5) (85. 7| (A23.7) (A6.3) (A21.0) 0.0 (A609)| (A 205)

(& - 4 5 119 191 77 128 34 34

3 (A80.0) (A783) (A377) (41.5)[ (A39.8) (174 (A105)| (A 27.7)

} T 1 4 18 19 11 12 2 4

5 (0.0) (0.0) (A53) (A424) (A83)] (A 478) (A71.4) (0.0)
2 = 90 124 1,056 1,055 790 772 295 281

< (A2.2) (14.8) (0.1)] (A15.7) (2.3)] (A 13.5) (5.7) (A 4.1)

~ = 1576 1,671 16,408 16,413 12,129 12,000 4528 4,354

= " (4.0) (5.0) (A00) (A11D) (D[ (A 119 (A5.1) (5.6)
H31.1~R1.11| H30.1~11 |H31.4~R1.11| H30.4~11 RIZEE RIERE

108 1A RIEE) | GTERY) | RiEER |FIEERS)| S1mks | Somi

- 0 0 0 0 0 0 0 0

= EE TR (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)

m % 1 0 3 2 1 2 0 0

= (0.0)] (A 100.0) (50.0)| (A500) (A50.0) (A50.0) (0.0) (0.0)

T OE 0 0 0 0 0 0 0 0

a5 : (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)

- 0 1 1 0 1 0 0 0

. (0.0) (0.0) (0.0)] (A100.0) (0.0)| (A 100.0) (0.0) (0.0)

=~ A = 1 1 4 2 2 2 0 0

= " (0.0) (0.0) (100.0)] (A60.0) (0.0)] (A60.0) (0.0) (0.0)
H31.1~R1.11] H30.1~11 ||H31.4~R1.11| H30.4~11 R1EE R1FEE

108 18 RIERE) | GTERY || RiEESD |GIEERY)|| S1mEL | SomiH

== TR 46 29 351 273 273 179 97 101

(64.3) (314.3) (28.6)] (A28.7) (52.5)] (A 38.9) (42.6) (32.9)

El m 3 0 0 5 14 4 11 1 3

(A100.0) (0.0)] (A64.3) (27.3)|[ (A63.6) (22.2)|f (A80.0)] (A 40.0)
- 0 0 10 4 9 2 5 4

E (0.0) (0.0) (150.0)]  (A60.0) (350.0)] (A 75.0) (400.0) (300.0)

A = 46 29 366 291 286 192 103 108

= (58.6)] (314.3) (25.8)]  (A28.0) (49.0)] (A 38.1) (39.2) (31.7)
H31.1~R1.11| H30.1~11 |H31.4~R1.11| H30.4~11 RIZEE RIERE

108 1A RIEE) | GTERY) | RiEERS |FTEERS)| S1mks | Somis

== TR 46 35 766 771 595 537 299 215

(A16.4)| (A38.6) (A0.6) (25.2) (10.8) (5.1) (24.6) (16.2)

- 2 12 75 92 56 73 16 26

-2 (A818) (33.3) (A18.5) (22.7)  (A23.3) (30.4)|  (A44.8) (8.3)

4] H s 81 52 916 940 669 754 272 264

! (1.3)| (A36.6) (A2.6) 4.4  (A11.3) (13.7) (A15.0) (A29)

- 3 1 7 8 6 5 1 1

= (0.0) 0.0) (A125) (0.0) (20.0) (0.0) (0.0)] (A 75.0)
2 = 38 33 363 381 253 299 82 100

- - (46.2)] (A40.0) (A4.7) (A52) (A154) (6.0) (A8.9)] (A 21.9)

A = 170 133 2,127 2,192 1,579 1,668 670 606

= " (A12)] (A34)5) (A3.0) (9.5) (A5.3) (10.0) (A1.5) (A1.1)




